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OR (3121a1)

Write short notes on the following:
(a) Consumptive use of water
(b) Land consolidation

fr=faRaa uwr wfera fewofi foa—
(31) ST @1 @rgER® @Ud
@) qf gwe=<

Rice is matured in 10 watering, each of 10 cm in 120
days in 100 sgkm. Calculate the discharge.
8

100 97 fHoflo ¥ ATd B BIA 10 Ucd+d
gyA®d 10cm, 120 fet & gyRudq adar @
forea™or @ ToET B |

OR(3721d)

Enumerate the effects of impurities in irrigation

water.

Rrars oa 4 IEfgdl & gyvEl &1 Scdd@
BN |

OT6010 156058
2019(Odd) o01d Syllabus
Time : 3Hrs. Sem. VI C
W & Land. Mang.
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol @ SR <, TAS UeT &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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OR (372rd)

Explain sub-surface drainage system.

Jaqfy frer et yommeft @ aurer & |

Explain the needs of formation of irrigation water

user's association.
4

Riard STsuHladT G769 94911 &) ATagTHdl
B ARAT BN |

OR (312141)

Draw a neat diagram showing a canal fully under

banking.

% aoe faa grT gof wiE § g @t
IEECIIY

What are infiltration indices? Show by sketches.

Sfbeg 34 ©Td T 27 fad g1 faEny |
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(i)

(i)

(iii)

(iv)

3 15605B
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(|) Ard @& 9 ¥dg A8 @ FSL® Il
SWR BIdl @

(]) ATl @ d€ ¥Wdg AeX @ 9 Yd @
FSL @ €9 # v&dl @

Choose the advantages of lining of canal:
(a) Seepage control

(b) Prevention of water logging

(c) Reduction of maintenance cost

(d) All of the above

TEY D TWRIGWT A BIF 9l BRIQ &I
g

(31 Rsama &1 v

(d) 9Ta SH1d R A®H

(¥) @—E49 R 9 @9

(2) SwRiaa g+

Lined canals are generally:
(a) Triangular

(b) Trapezoidal

(c) Both (a) and (b)

(d) None of these

P.T.O
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(xx) Il arfe®r &1 3ref 2—
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GROUPB

Answer all Five Questions.

|l ufg gl & SR °
2. Explain wilting point and permanent wilting point.

4
i fag v e yul fag @ aarer o |

4x5=20
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(vi)

(vii)

(vii)

(viii)

5 15605B
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(]) 379 | HIg T8

If wheat requires about 7.5cm of water

after every 35 days and the base period for
wheat is 140 days, what is the value of depth
of wheat?

(a) 30cm

(b) 22cm

(c) 32cm

(d) None of these

afe yAS 35 &1 & 91 g B B
$I 7.5cm U AMRY qAT WG, BT SR
I 140 fe &), q@@ Seer &1 99 @

BI?

(31) 30cm

(d) 22cm

(®|) 32cm

(]) 37° | PIg T8

Hand consolidation and proper by out will
improve in:

(a) Land productivity

(b) Labourer a availability

(c) Both of above

(d) Mason availability

P.T.O
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xvi) Uhoidd YRUIT fehar srar 2— x) AP’ BT ETHT AT 3T &—
(31) srcafEra freavor @1) oI AYSET B
(@) sraftrs an _ @) 9f @ @
(@) faux fAwfor & ®RYT HFL & da # (@) derr avorm @
EEGR :
(@) 5T @ B T (]) w&T AWl @
(xvii) Water logging in irrigated areas is due to: (xi)  With the help of water course, water is
(a) Seepage from unlined canals and water reached to:
courses. (a) Canal
(b) Inadequate drainage (b) Field
(c) Intensive irrigation (¢) Dam
(d) All of the above (d) Spillway

i) Rifad &= § Sl STHTd BT BRI 2—

(@1) T w@R =9 o} o wnf @ ReE (xi) Wﬁmﬁﬁqﬁww‘%—
(@) suata e feri (31):13‘\'1_#
() arar Riarg @) @a A
(3) Suiaa | (@) afer §

(%) Rge@ o
(xviii) A level crossing is a cross drainage work

where:

(a) Canal has a free flow (b Choose the cash crop:

(b) Canal flows under pressure (a) Tea
(c) Canal flows under a specified level above (b) Jute
the drain (c) Cotton
(d) None of these (d) All of the above
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9.

10.

How the layout of field channel is done? Explain

in detail.
in detai 8

Gd T8 &1 @il 9 fHar srar 22 fawga
®U 4 AT IR |

OR (3121a1)

How planning for integral use of ground water with
canal water is done? Explain.

TEX Old & 1 {—old & WAfdd SUART &)
VAT DY dIR DY Il 87 AT BN |

How soil water is classified? Explain in detail.

8
73T oid & 9 Fffepa fear smar 82 fawar

| |Hs |

OR(37214)

Why a fall in canal is essential? How do you select
its site?

P.T.O
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